C f g
ITEM REF No./DESCRIPTION MATERIAL | QUAN
| 1 DWG TBP0388D SUB ASSY 1 |
| 2 DWG TBPO390D SUB ASSY 1 |
RETURN HEADER 3 DWG TBP0392D SUB ASSY 1
SUPPLY HEADER 4 DWG TBPO387D SUB ASSY
@ Q14 5 DWG TBPO389D SUB ASSY 1
| Q14 6 DWH TBP0391D SUB ASSY 1 |
| @ Q15 @ 7 DWG TBP0O395C ITEM 1 1 |
1 OCT 2005 SUPPORT BAR ASSY FROM TBP0302 8 | DWG TBPO395D ITEM 2 1 1
@ Q16 @ Q15 IS SHOWN HERE BUT NOT USED 9 DWG TBP0O396D ITEM 1 1
ITEM 11 ON THIS TERMINATION 10 | DWG TBP0396D ITEM 2 1
COIL CCT #12, ON Q15 HAS
| BEEN REPLACﬁI-éD AS SHOWN ON Qie 2018-01-22 [ P0e ToP9o9/D TEV 1 1 |
insulator replaced 12 | DWG TBPO397D ITEM 2 1
| TBPO3798 (WATER LEAK REPAIR) 2018 due to water | [2018-01-22 OBLIQUE VIEWS FROM 13 | DWG TBPO398D SUB ASSY 8 |
leak in ver fitting this part replaced with
FEB 2007 joint to ceramic. TBPO379 REV C BOTH SIDES LA LL :
15 | DWG TBP0209A 16
Q15 ITEM 11 ON COIL CCT'S .375 bore 16 | DWG TBP0204D ITEM 100 16 |
| #'S 2,4,5,6,& 14 REPLACED | engagement depth |
BY TBP0379B TO REPAIR | / trimmed to .300" long 100 |HEX HD BOLT, 3/8-16 x 3/4 LG GRS CAD PLATED STL 2
WATER LEAKS | to accommodate
16 | 1 fitting. 101 | STD 3/8 WASHER SS 2
102 |HEX HD BOLT, 5/16-18 x 3/4 LG GR 5 CAD PLATED STL 6
15| | x the conductor will not STD 5/16 WASHER ss 6
| be trimmed back |
| 141 ( to .375" |
=
| COIL 441 '
| CCTS |
10| (@f@
9 —— —
— T - - <::' BEAM LOWER TWO HOLES IN THE END FLANGES
| / 8 | ( Q15 ARE BOLTED TO THE SUPPORT BRACKET, |
| ITEM 7, 9 and 11 ON ASSEMBLY WITH SIDE |
this fitting pulled off 7| e 5018-01-22 Q16 HEADER FLANGES, AS SHOWN IN TBP0426D
while removing the 6 | insulator replaced
leaking insulator. 2018 due to leak in
5 i vcr fitting weld.
| |
| 4 | (@% — |
S| I —— small leak found on
|| braze joint
2| | v O
| : e E§ [ NOTE THAT THIS IS THE GENERIC ARRANGEMENT |
3 | o o FIHEH | (i—= | [praieak found or FOR BL1A Q14, Q15 AND Q16. THE UPPER HEADER 3
“mm tqr” T T TUBE ASSYS, ITEMS 1-3 AND 4-6, AND HEADER SUPPORT
e BRACKETS, ITEMS 7-12, VARY ACCORDING TO THE
MAGNET AS INDICATED BY THE ITEM NUMBERS
2018-02-01
| All supply side insulators (even numbered, |
| 8 in total) were replaced with new old |
stock insulators for the winter 2018
no spare insulators for Q14 and shutdown. as a precaution.
Q16 because of different design FOR MAGNET ASSEMBLY WITH COVER SEE TBP0424D
| (those insulators have a bellows |
which was intended to
| mechanically decouple the <::L |
misalignment of the joints, but tear A
when rotated and fail under fatigue . -]
conditions) G i S — — S —( —
| - oo |feio o || o — — — |
| ’L 1 [] B |
QLOLOLOLOLLLOLOLOLOO O
4 = 7, 1
0 o o 0 0 O aa(8) ¢ :
| l A - Q14 |
ors (5
| Q15 16, VAC THIS JOINT TO BE HAND |
016 @ SECTION A—A TIGHT —TYP FITTED AND MADE LEAK
— TIGHT —TYP
o (Das |77
| o o} Q |
. O O TRIM ALL COIL TERMITATIONS TO THE POINT
SHOWN, THEN ATTACH INSULATOR SUB-
ASSEMBLIES AND HEADERS AS SHOWN
o ©) ° ©) o (DONE IN 2004 SHUTDOWN)
| |
| |
JUN
/\/ /\/ /\/ /\/’ /\/’ /\/ /\/ m /\/ /\/ B 14/16 FECO—4005 CHANGE CONTROL APPLIES RK KUR
TOLERANCES UNLESS OTHERWISE SPECIFIED A ORIGINAL ISSUE
5 FRACTIONS T ; 5
| DECIMALS .XX + REV DATE LoC REVISION DESCRIPTION BY APP’D |
XXX ko
| gﬁggﬁ FNISH * in TRIUMF \Z/Eﬁigg\?gg;%i@s“ﬁ%oLuMB|A CANADA’S NATIONAL MESON FACILITY |
VIEW LOOKING DOWNSTREAM -
. ALL DIMS IN INCHES MAGNET INSULATOR/TOP HEADER ASSEMBLY
FOR ORIGINAL ISSUE SEE DWG TBP0203D (2003 INSTALLATION) DESIGNED oowroos | Bl 1A TRIPLET COOLING PACKAGE
| DRAWN R KOKKE SUB—ASSY: REDESIGN B |
| YR - TR = Tww —
TRI-DN— DATE DEC/06 THI@GLE PROJECTION T B P O 4_ 2 5 D



keithng
Polygon
replaced with tbp0379 rev C

keithng
Polygon
this part replaced with TBP0379 (rev C?)

keithng
Polygon
replaced with tbp0379 rev C

keithng
Polygon
this part replaced with TBP0379 (rev C?)

keithng
Polygon
this part replaced with TBP0379 (rev C?)

keithng
Polygon
this part replaced with TBP0379 (rev C?)

keithng
Callout
2018-01-22
this part replaced with TBP0379 REV C

.375 bore engagement depth trimmed to .300" long to accommodate fitting. 

the conductor will not be trimmed back to .375".

keithng
Callout
2018-01-22
insulator replaced 2018 due to leak in vcr fitting weld.

keithng
Callout
2018-01-22
insulator replaced 2018 due to water leak in vcr fitting joint to ceramic.

keithng
Sticky Note
as of 2018, coils 1 3 789, 13, 15, 16 have original coil termination fittings from initial installation. 2, 4, 5, 6, 10, 12, 14 have been replaced with copper union and certanium soldered. 

keithng
Polygon
there is no detail drawing on how the coil should be trimmed?

keithng
Text Box
no spare insulators for Q14 and Q16 because of different design (those insulators have a bellows which was intended to mechanically decouple the misalignment of the joints, but tear when rotated and fail under fatigue conditions)

keithng
Callout
2018-02-01
All supply side insulators (even numbered, 8 in total) were replaced with new old stock insulators for the winter 2018 shutdown. as a precaution.

keithng
Callout
small leak found on braze joint

keithng
Callout
small leak found on braze joint

keithng
Callout
this fitting pulled off while removing the leaking insulator.

keithng
Polygon




